Math 321- Spring 2013 - Examl

Instructor: Dr. Francesco Strazzullo Name M Y y i
Instructions. Technology and notes (including the formula sheets from our book) arc allowed on this exam.
Each problem is worth 10 points. If you use notes or formula sheets, make a reference. When using
technology describe which commands (or keys typed) you used or print out your worksheet.

L. Let f(x) be a twice differentiable function on the interval [—1, 3] such that f(—1) =2, f/(-1) = -3,
3
f(3) =4, and f'(3) = 1. Determine the value of/ zf"(z) dx.
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2. A bacteria population starts with 400 bacteria and grows at a rate of

r(t) = (450.268)e 12767

bacteria per hour. How many bacteria will there be after three hours?
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3. Show the substitution method by using u = cos to find the indefinite integral [ % dz.
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4. Someone punched a hole at the bottom of your soda cup. The volume of soda decreases at a rate of

864(1622 — 32z — 793)

4 .
Vi) = 125(da + 45)(dz + 37)

fluid ounces per seconds. How much soda did you have in your cup if none is left after 8 scconds?
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5. Show the integration by parts method by using v = = and dv = Inz dz to find the indefinite integral

j xInxdz. Compare your result to Formula 101.
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G. Evaluate the integral f logy 2 dz.
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7. Compute the most general antiderivative #'(z) of f(a) = @ sinh (22), then the particular antiderivative
satisfying the initial condition #'(1) = —1
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8. Intcgrate 22e%® with respect to .
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9. A particle moves with velocity function
v() = .32% —3.92+9

feet per second. Compute both the displacement and the total distance covered in 10 seconds.
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10. Compute the partial fractions decomposition of
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